SH6E12ADREIK;

B x5 BE (%) | JE (hp) =2 (°C) _ #1;2 (°C) K= (mm) S = (om) HEE (m)
FRIOKF | FRIOHK | FRIOK | &8 X =IE 50cm 1m AH RiE AH RiE BB

1 {£Y 98 922 0.9 0.2 2.3 0.0 - — - — 2.0 2.0 6.0

2 B 99 922 -0.4 1.3 3.3 -15 - — - — 0.0 2.0 0.0

3 En 98 924 -0.4 0.0 8.6 -2.1 - — - — 0.0 2.0 0.0

4 {£Y 98 924 3.9 15 11.5 0.4 - — - — 0.0 2.0 0.0

5 <Y 96 923 1.3 0.4 6.9 -2.2 - — - — 0.0 2.0 0.0

6 {£Y 66 922 5.0 0.8 6.9 0.1 - — - — 0.0 2.0 0.0

7 S 97 922 -0.5 0.0 5.5 -1.7 - — - — 20.0 22.0 20.0

8 £ 97 921 -2.3 -25 0.0 -45 - — - — 10.0 32.0 30.0

9 S 99 922 -0.6 -2.7 1.7 -4.2 - — - — 25.0 57.0 30.0

10 E 97 923 0.4 0.8 1.6 -3.5 - - - - 0.0 57.0 28.0

L AEHE 945 9225 0.7 0.0 4.8 -1.9 xxE | RKegie | RKexiE | RXFiS 57 11.4

11 E 98 923 0.2 0.0 3.2 —0.1 - — - — 5.0 62.0 25.0

12 5 94 923 -2.6 -2.3 1.1 -3.3 - — - — 8.0 70.0 25.0

13 <Y 96 922 -2.5 -25 1.4 -5.3 - — - — 10.0 80.0 30.0

14 S 97 922 -1.8 -3.5 2.1 -7.2 - — - — 25.0 105.0 45.0

15 BEh 95 922 -3.1 -3.1 0.7 -7.7 - — - — 18.0 123.0 32.0

16 S 96 923 -1.4 -0.4 45 -2.1 - — - — 25.0 148.0 40.0

17 E 97 922 0.3 -2.0 25 -3.1 - — - — 2.0 150.0 32.0

18 S 96 922 -1.0 -1.0 14 -2.7 - — - — 5.0 155.0 35.0

19 Eh 95 922 -7.8 -4.3 0.0 -9.6 - - - 1.0 156.0 42.0

20 <Y 75 923 0.5 -2.7 -0.5 -2.7 - - - - 14.0 170.0 41.0

haEHiE 93.9 922.4 -1.9 -2.2 1.6 -4.4 XREFE | RKFE | RKFE | RFE 11.3 34.7

21 TRIE 93 923 —6.1 -2.5 4.1 -8.4 — — — — 0.0 170.0 40.0

22 E 98 922 -2.3 -22 4.0 -6.2 - - - - 20.0 190.0 40.0

23 S 97 922 —-4.2 -5.5 4.2 -6.9 - — - — 65.0 255.0 80.0

24 £ 98 922 -3.3 -3.7 -24 -4.4 - - - - 50.0 305.0 130.0

25 Bh 96 922 -1.7 -2.8 1.3 -5.2 - — - — 10.0 315.0 120.0

26 {£Y 98 925 -15 -3.1 1.4 -5.5 - - - - 0.0 315.0 100.0

27 S 98 920 -2.8 0.2 3.9 -3.9 - — - — 10.0 325.0 100.0

28 £ 98 920 -3.3 -4.3 -1.8 -4.3 - — - — 80.0 405.0 140.0
29 S 98 922 -6.0 -4.1 -1.0 -8.7 - — - — — - —
30 Eh 98 921 -3.6 -35 5.5 -4.7 - — - — — - —
31 ES 98 922 -3.4 -1.1 4.7 -5.1 - - - - - - -

THFEHIE 97.3 921.9 -3.5 -3.0 2.2 -5.8 - — - — 29.4 93.8

A¥EH 95.3 922.3 -1.6 -1.8 2.9 -4.1 - - - - 14.5 433
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